CnioxeHne M BhIUYMTAaAHUE
OeCsSTUYHEIX nOpobemn

TpeHaxep nOJys1 opraHM3aluMM YCTHOTIO
cyeTa Ha ypokKax MaTeMaTUKHu

B 5-6 knaccax
Paspaborana Illoneraesa I'.II.
MKOY HeuaeBckas OOl
I'ycb-XpyCcTalbHOI'O pamMoHa
BrnaguMmupckom ob6isacTu
Mionne 2013r.
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-0,1= 0,9 -0,1= 1,9 -0,1= 2,9
-0,3= 0,7 -1,5= 0,5 -2,3= 0,7
-0,25= 0,75 -1,75= 0,25 -0,32= 2,68
-0,06= 0,95 -0,87= 1,13 -1,05= 1,95
-0,9= 0,1 -1,9= 0,1 -0,2= 2,8
-0,09= 0,91 -0,02= 1,98 -2,06= 0,94
-0,18= 0,82 -1,04= 0,96 -0,19= 2,81
-0,001= 0,999 -0,002= 1,998 -1,002= 1,998
-0,46 = 0,54 -0,12 = 1,88 - 0,46 = 2,54
\ -0,037 = 0,963 J
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\ -0,028 = 1,972 /

\ -0,086 = 2,914 J
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-0,1= 4,9
-1,8= 3,2
-4,2 = 0,8
-1,01= 3,99
-3,75= | 1,25
-0,06= 4,94
-1,81= 3,19
-3,45= 1,55
-2,4= 2,6

\ -1,237= 3,763 /
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-0,4= 7,6
-1,8= 6,2

- 4,6= 3,4

-3,07= 4,93
-2,55= | 5,45
-0,06= 7,94
-7,84= 0,16

-6,45= 1,55
-2,2= 5,8

-0,6=
- 3,8=
-6,2 =

-1,01=

-4,77=

- 0,06=

-1,41=

- 4,44=

-2,8=

\ -1,203= 6,797 /

\ = 4,239 =

8,99
5,23
9,94

8,59

9,4
6,2

3,8

5,56

7,2

5,761 /




0,03+0,2=
3-2,6=
0,05+0,03=
1-0,1=
0,09-0,01=
2,5-0,4=
0,22-0,1=
4,7-2=
5,9-4,8=
7+0,2=
0,09+0,5=
0,3+0,02=

|

0,23

|

0,08

0,9

0,08

2,1

|

0,12
2,7

1,1

7,2

0,59

0,32

0,14+0,03=
0,6+0,3=
0,4+0,05=
5-0,5=
1-0,8=

0,3+1,7=
0,04+0,1=
0,28+0,12=
0,38-0,16=
6,8-0,2=
0,06+0,04=
1,5-0,4=
2-1,2=
0,45+0,55=

0,14

0,4

0,22
6,6

0,1

1,1

0,8

3,06+1,4=
0,07+0,24=
0,5-0,03=
3,8+1,2=
2,6-0,9=
3,7+0,8=
0,9-0,05=
2,04+1,6=
4,8+0,4=
3,6-0,8=
0,19+0,07=

1 l 2,5-0,07=

4,46
0,31

0,47

5

1,7

4,5
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0,85
3,64

5,2

2,8

0,26

2,43 I

8+5,9= 13,9
4,65-1,65= | 3
9-6,4= 2,6
0,062+0,234 0,292
0,06-0,001=( 0,059
7-3,6= 3,4
9+3,2= 12,2
3-1,2= 1,8
0,08-0,005= | 0,075
0,012+0,11= 0,122
4-3,3= 0,7
2,25+0,75= | 3
0,043+0,12= | 0,163
0,04-0,003= ¢ 37 |
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1) 2,3-1,5 2) 0,34 +0,66 3) 0,99 -0,44 2) 0,3+2,9
+0,7 -0,5 + 0,25 -1,2
- 0,02 -0,15 -0,03 +0,11
0,35 0,77 211 By
1) 0,8+0,7 2) 09+1,4 3) 0,35-0,25 2) 0,76 — 0,25
-0,3 -0,3 + 0,05 -0,01
+ 0,05 + 0,01 +0,1 +0,3
2,01 —: 3
1) 1-0,3 2) 1+0,6 3) 2-0,3 2) 2+0,5 A
-0,2 +0,4 + 0,05 -0,3
+1,5 - 0,05 +0,15 +1,8
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1) 0,6-0,1 2) 1,1+0,7 3) 1,9-0,5 2) 0,2+0,4
-0,3 -0,4 +0,2 -0,1
r + 0,04 + 0,06 + 0,02 +0,15
0,24 1,46 1,62 065 B
1) 0,4+0,3 2) 0,8-0,2 3) 1,2+0,3 2) 1,7-0,4
-0,2 + 0,05 -1 +0,1
+0,01 -0,15 +0,02 +0,03
1) 3+0,4 2) 1-0,5 3) 2+0,2 2) 2-1,5 \
-0,2 +1,5 + 0,08 +0,4
+0,8 -0,05 -0,03 +0,15
4 1,95 2,25

)




10 =

0,5=
0,5 + [0,5 J 0,6 + [2,4 J 1,5+ [ 8,5 } 0,5+ [0 J

(025 |+0,75 (2,15 |+085 [ 825 |+1,75 (049 |+0,02
14- (04 | 49- (1,9 |104-(04 | 24- (09 |

(0,95 |+0,05 [ 2,85 |+0,15 [ 9,95 |+0,05 [ 045 |+0,05

015+ | 0,85 | 0,23+ 2,77 | 1,15+ 885 | 015+ 0,35 |
[ ]+02 [ J+0,8 [ }+oz [03 J+0’2
1,05- (0,95 | 10,05- 7,05 | 21,95- 11,95| 1,95. [ 1,45 |
0,87+ 013 | 1,87+ (1,13 |9g7+ [013 | 0,27+ (023 |
(27 J-1,7 [498 |-198 [ 117 |-17 (22 |-17
(3,33 |-2,33 (503 |-2,03 [ 1033]-033 [ 1,83 |-1,33




